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Directions: Calculate the Mean, Variance, and Standard Deviation for each Sample. Show all of your work to the right side of the problem! 
[bookmark: Top]Standard Deviation
The Standard Deviation is a measure of how spread out numbers are.
Its symbol is often σ (the greek letter sigma)
The formula is easy: it is the square root of the Variance. So now you ask, "What is the Variance?"
Variance
The Variance is defined as: The average of the squared differences from the Mean.
To calculate the variance follow these steps:
· Work out the Mean (the simple average of the numbers)
· Then for each number: subtract the Mean and square the result (the squared difference).
· Then work out the average of those squared differences. 







	





1) 
	

PRACTICE PROBLEMS:



[5, 2, 1, 9]

Mean = 

Variance = 

Standard Deviation from Variance =

	
	



	2) 
	[6, 1, 3, 7, 4]

Mean = 

Variance = 

Standard Deviation from Variance =




	

3) 
	

[2, 5, 7, 5, 1]

Mean = 

Variance = 

Standard Deviation from Variance =

	
4) 
	
[9, 2, 7, 2, 6]

Mean = 

Variance = 

Standard Deviation from Variance =


	
	

	5) 
	[6, 8, 6, 3, 4]

Mean = 

Variance = 

Standard Deviation from Variance =


	
	

	6) 
	[6, 6, 9, 9, 6, 1]

Mean = 

Variance = 

Standard Deviation from Variance =

	
	

	7) 
	[4, 8, 9, 7, 6, 7]

Mean = 

Variance = 

Standard Deviation from Variance =



	
	

	8) 
	[2, 6, 2, 4, 3, 1]

Mean = 

Variance = 

Standard Deviation from Variance =

	
	




9) What is Standard Deviation?  Why would we bother calculating it?
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Example

You and your friends have just measured the heights of your dogs (in millmeters):

The heights (at the shoulders) are: 600mm, 470mm, 170mm, 430mm and 300mm.

Find out the Mean, the Variance, and the Standard Deviation.

Your first step is to find the Mean:

Answer:

600 + 470 + 170 + 430 + 300
5

Mean
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Now, we calculate each dogs difference from the Mean:

600 B =

400 B e

227

200 N 24
0

To calculate the Variance, take each difference, square it, and then average the result:

2062 4 762 + (—224)% + 362 + (—94)%
5
42,436+ 5,776 + 50,176 + 1,296 + 8,836
5

Variance: 0% =

_ 108,5520 Zo1,704

So, the Variance is 21,704




